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» Write the equation of the function:

7. Write the equation of a cubed function that has been translated left four units and up six units.

= (xay)’ +6

8. Write the equation of a cube root function that has been translated left seven units and down one

W=31 Y +71 %

9. Write the equation of a cube root function that has been translated left four units and up six units

and reflected across the x — axis. @ % % |_ -\_ (0

10. Write the equation of a square root function that has been translated right three units and down

" Y= 1D -2

11. Write the equation of a square root function that has been translated left two units and reflected

across the x — axis.
kg - d A+

12. Write the equation of a square root function that has been translated up two units and reflected

across the x — axis and stretched by a factor of 2.

Y= 42
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Lesson 2 — Square Root & Cube Root Equations

There are three steps to solving a radical equatioK

3) Solve for x.

» Examples:

—

1) Isolate the radical.
2) Raise both sides to the power of the root.

LEPE)?
¥ =G4

-

 AmTE)

i =Y

A )
=5

_ 0

x+6 14

Jgﬁﬁr Ok

(o~ qu
- -

XK= ‘45
x=_ 49

4, —4J/x+11=3
-1 =t

A
) (QL

X
-

5 (Vx—2-— z!fz
QEM&RS

6. ™RV2x +5= —21
33 73‘3

@T@Tl@
g = 343
s -S

L3
= \d

=W

/&"T‘ 0xZ — 9= (30 ©

8. (\/Zx 6) QSx 15)"

-6 =9%x-15
Iy -dy "
< =3y-\
(s 3 H%

¥¥0e3)

o. (Vex—35):W3x+2)

Lbx =5 =3x+ A
~3y -3y
Jx- 5=

¥5 4D —
3 3

=
Il




Math 2

Unit 4 — Radical & Rational Functions

Name

Date

Lesson 2 — Square Root & Cube Root Equations HOMEWORK
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